ell6mL &6l

uwinmd 1.1
7(_27 _4) ) (37 1) ’ (37 _4)}

)} Ax A= {(p.p).(n.0):(4,9),(2.0)} ;
q

),(3,5),(3,7)}
J

3. A={3,4} B={-20,3} 5. 2_eBoTemIo
uipd 1.2
1.(1) 2_mey @6bemen (ii) 2_mey Bevemed  (iii) 2_mey (iv) 2_mey Sevemed
2. {1,2,3,4,5,6},{1,4,9,16,25,36} 3. {0,1,2,3,4,5},{3,4,5,6,7,8}
® 1. () (i) (i) {(2.1).(4.2)} ®

(ii) (i) (iif) {(1,4),(2,5),(3,6),(4,7),(5,8),(6,9)}

1
2
3
4
5
6
7
8
9

2 {(10000, A,), (10000, A,), (10000, 4, ),(10000, 4,),
(10000, A.), (25000, C, ), (25000, C, ), (25000, C, ),
(25000,C,), (50000, M, ), (50000, M, ), (50000, M, ),
(100000, E,),(100000, E,) }

o

‘ ‘ Answers TM.indd 347 @ 12/6/2021 6:07:24 PM‘ ‘



______ NEEN .

uind 1.3
1. {1,2,3,4,...}, {1,2,3,4,...}, {2,4,6,8,...}, pb. 2. &b

3.() 12 (ii) 4a®—10a+6  (iii) O
4.(1) (1) 9 (=) 6 (8) 6
(i) 9.5 (iii) (a) {z/0<z<10,z € R}
V) 5 5.2 6.(1) —2 (n)g (iii) 3
7. 4x® — 962 + 576z 8. 1 9. 500¢
10.(i) ey (ii) 0.9,24.5 (i) 60.5 srhu@eD
LSHA 1.4
1.3) emiy o6 (i) smiy (iii) smiy o6
2.(1) {(2,0),(4,1),(6,2),(10,4),(12,5)}
(i) [z [2]4]6]10] 12 (iv)

folol1]2] 45

® (iii) A f B
2 0

4 1

6 o—t—>—fo2

10e— > ® 4

12 5

9

3.G) A f B (i)
\ =F G) [z 112137451

‘ o) [2]2]2] 3] 4

\

6.(1){1,8,27,64} (ii)edTmi&61&M6dTH) LOHMID 2_6TEHTSHEIL SFTIL
7.(1) @wumé smiy
9.(G) 5 (ii) 2 (iii) —2.5
10.(i) 2 (ii) 10 (iii) 178
11. ey 12.(i) 32°F (ii) 82.4°F

‘ 10 24D QUGLIL] - SeSIBLD
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(iii) 14°F  (iv) 100°C

(iv) z° —7z+12

(F) 0

b) {z/0<z<9,x€R}

1
(iv) 5
(iv) 32 e&ib

(iv) emiy

(ii)) @mumé emiy Qebemed 8. a = —1 sebeog 1, b=1
(iv) 1

. -9
(lV) F

(v) —40°

12/6/2021 6:07:26 PM‘ ‘



____IEEEN ®

‘ ‘ Answers TM.indd 349 @ 12/6/2021 6:07:29 PM‘ ‘

uipd 1.5
. 9 2 . .. 2 8 .
1.(i) z° —6, (z —6)"; swLdledemed (i) — , — — 1; swiblebeneo
20" —1 =z
3—x 99—z . . . 2 2 .
(iii) , ; goflevemed  (iv) z—1, x —1 ; dwob (V) 42° + 8z + 3, 4z ; FwLOebemed
3 3
2.(i) -5 i) =2 4. a=+2
3
5.{y ly=22>+1 2 € N}; {y ly =02z +17,2 € N} 6.(1) z' —22°
(ii) [:v" - 2:::2}2 —1 7. feyerg QETMISESTETN), g 246018l QTMIS6sT6Tn 6demen, f o g
26018 QETMISHE&HTEOTT) E6L6m6d 9. 4z -1
uind 1.6

1 | 2 | 3| 4| 5|6 | 7| 8] 9 |10 |11|12|13]|14]15
(&) | (&) [ (=) (=) &) | (M) | (&) | (=) | (&) | (&) |(=)]| () [ (&) ()] ()

o10@ uuindl-1

11, 2w0bmib —5,1 2. {~1,0,1}, {(=1,—1),(—1,1),(0,~1),(0,0),(1,—1),(1,0),(1,1)}
3. (i) 4 (i) 2 (iii) Va
4. {(9,3),(10,5),(11,11),(12,3),(13,13),(14,7),(15,5),(16,2),17,17)}, {2,3,5,7,11,13,17}

5. ~1<x <1 9.(1)%5 (i) 2tz +1) 10.0)R—{9} (i) R (iii) [2,00) (iv) R

uipd 2.1
1. 2,5,8,11, ... 2. 25,7 6.(i) 4 (ii) 51
(iii) 144 (iv) 6 7.174 8. 2,—1 9.6
uwind 2.2
1. @ulemL erevorder 2. I Sebemed 3. 10101 4. 9,3
5. 2,3,5,7 wpmio 3,4,2,1 6.2040, 34 7. 999720 8. 3647 9.2520
uwind 2.3
1.(i) 7 (ii) 5 (iii) 2 (iv) 7 (v)2
2. 3 3. 2,8,14,... 4. 8,19, 30, ... 5. 11 wp.u
6. 8 w.u 7. 6leueerfl 9.2 10. 6 @p.u, Hraiserr
uwind 2.4
LG) 216,648,1944 (i) —7,—11,—15 (i) —, 2,8 2) —1,62562
25 36 49

AL s ‘



B [ [ [ ® . EEES

(i) 2,-6,12,—20 (iii) —4,2,12,26 3.(01) n* +1 (ii) n—l
n
(iii) 5n—2 4.(1) E,E (ii) —12,-117 5.@,% 6. 1,1,3,7,17,41
4 3 11 31
uind 2.5

1.(1) &mLl®pd easrLreuflens (ii) sl (s asnLiauflens Qebemed

(iii) &nl(s asTLieuflens (iv) sal s asnLieuflens

. . . . . .. .3 5 T

(V) amlps esnLieflens Qevemed 2.(1) 5,11, 17, ... (ii))7,2, =3, ... (111)1, YRR

3.1i) -1,2 (ii) =3,—7 4. —83 5. 15 6. 93,99 8.4 9. 3,17,31

10. 78 11.2,9,16 12. 5:7 13. =3°C,0°C,3°C,6°C,9°C  14. 31 spevorhsern

uwind 2.6
1.(i) 3240 (ii) 999 (iii) 721 2.20 3. 1540
5.612.5  6.50625 7. 168448  8.(1) T 45750  (ii) T5750 9. 20 wnsmser
10.(1) 42 (ii) 2130 12. L(24a—13b)
a—+b
@ uind 2.7 @&

1.(1) eums®S e ieuflems (ii) OUBSSS FTLTauflens Qedemed
(iii) ewmeE®s s iauflens (iv) OUmEEHGS asTLTauflems (V) OUBSSS FTLTeuflend

(vi) ewmeds esnLiauflensd Qeemed (Vii)OUmeHGS OSTLTeuflend

2.(1) 6,18,54 (i) v2.,2,242
(iii) 1000,400,160 3.1 4, —-18 5.(i) 12 (i) 7 6. 5x(3")
7. 3072 9. 2,3,234@)@@ 2, 3,3 10. X 76577 11.% 23820, T 24040
uwind 2.8

1.(i) §1_[_§]n (ii) @1_[1]n 2. 1820 3. 12

8 5 3 4

27 1 4 4[1_[110”
4.(i) 5 (i) 63 5.5 6.(i)§n—T
(ii) 1000 =1 _» 7. 3069 8. 3174760 9, AL

27 3 333
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uwind 2.9

1.(i) 1830 (ii) 1584 (iii) 3003 (iv) 1240 (v)

105625 3.210 4.15 5.9  6.4615 ag.5?

uwind 2.10

3256  (vi) 42075 (vii) 1296

7.(i) 4n® +3n>  (ii) 2240

2 3 4 5 6 7 8 9

10 11 | 12 | 13 | 14 | 15

@) [ (=) | (&) | (F) | (&) | (F) | (8) | (&)

(&) | (&) | () | (=) () | (&)

0@ LUWinHd-2

2.(i) 350y (ii) 5 (iii) 3

uwinmd 3.1

1.(i) 2, —1,4 (ii) (iii)

=~ | =

1
737

N | =

2.(1)  erevorevorbp SFeyaser (ii) Siey Gevewed

24 o e00T(b&6T, 51 S6ToT(b&6IT, 84 S 6T0T(hS6IT

uwind 3.2
(iii)
(iii)
(vi)

uind 3.3

(ii) z>+1
(ii) —36a3b%c

1.(i) z*+2z—3
2.(1)

(v)

8:1733/2

Az +3)2x+1) (x—3)

1.(i)
(iii)
3.(i)

Ty, 1052°y°

oz +y),zy(z +y) 2.(1) (a+6) (a—2) (a—3)

42° (z — 1) (i)’ —ay+y°  4.() (a+2)(a—

uind 3.4

1 9

xr —

0,

xr —

1.(1) (ii)

2,3

r—9 (iii)
z —

(iv)
uind 3.5

X

2.(i) =5,5 (ii) (iii) 1

3232
3

3z — 4y
2z -5

1.(i) (i) p+4 (111)37’52 2.(i)

3.31) -5 (i) (i) % (iv)
—

3
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3.1 6.-78 8.21200 9.42, V6, 32, ...

o(x’

—48m*n?

42t — 1)

10.327636

35, 30, 25

(iil) @GT Siiey
4.137 5. 7,32
+d4r+4)  (iv) 3(2® +1)

(iv) (p=D(p—-2)(p+2)

2° 2% (22 — 3y)’ (42® + 6zy + 9y°)

(ii)) (z+1, -+ +z+1) (2" —x+1)

(ii) 2(z — 3a)*(z* + 3az + 9a*)
7) (i) (@ =)@ +ay +y)

p+95

() 2p(p —4)

-3,2

:172+xy—|—y2

(i 3(z +2y)

4+ 4x+ 4

AL s @ ‘
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uwind 3.6
: 2z 220+ 227 oy 2 2 o 2(z—2) . l—x
1.(i i) — 1ii + xy + 2.(1) ———= il e
Vi Wierseoy Wetwry 2050

20°+1 z+1 )
C@ 42 P —2r44 242 +1)

7.2 wevofleer 24 BblLmser 8. 30 &8, 20 &.&),

uwind 3.7
1.() 2 y4fﬁ (i) 4+ VE \fx + \f (iii) % (a +(b)4(‘z)j y)4§ 2.(i) oz +9
o

(ii) [32 — 4y + 52 (iii) \(x ~2)(Tz + )4z —1)| (iv) %\(4:5» +3)(3z +2)(z + 2)|

uwind 3.8
22 — 6z + 3\ (ii) \25(,-2 —Tr— 3\ (iii) \4952 + 1\ (iv) \119;2 9z — 12\
2 (i) 49, —42 (ii) 144, 264 3.(i) 30, 9 (ii) 24, —32
uind 3.9

1.(i)) 2> 4+924+20=0 (ii) 32° =5z +12=0 (iii) 22° +32—-2=0

(V) 2 +2—a)e+(a+57 =0 2.() =3, —28 (i) —3,0 (111)—— W0 )_ ?4
LuiHd 3.10
1.G) —L2 (i) —2.2 (i) —2,9 (v) 2,22 (il 2.6
4 2 2 4’4
uwind 3.11
1.G) 2,2 (i) —1,3 2.G1) 2, (ii) 3+\f 343
33 2 NN
Gi) -1, 2 (iy) &+b a=b 3. 3.75 OmBmgse
3 6 6
uwind 3.12
1. 5, —% 2. 1.518 3. 45 #.15/1oevof] 4. 20 yevorb&e, 10 Sp6v01bSeIT
5.940, 1215, 1615 6. 72 7.2818, 4218 8.218 9.7 0518
Luihd 3.13
1.(i) ewou, soLfledemed (ii) euwoil, FOLOELEMED (iii) ewoiliweded
(iv) euwoi, &b (V) 6o, &wid 2.(1) 2,3 (ii) 1, é
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uwind 3.14
L) et g Lﬂ_ 26 i) % (iii) 98 — 3(a + 8) +1
. (a+ B) —2a8 + 3(a + F) T .y 29 L 13
(iv) a5 2.(1) - (ii) 20 (iii) .
3.() 2° —44z+16=0 (ii) 2°—=32z—-1=0 (iii) 2* — 242 —64 =0
4, —15,15 5. —24,24 6. —36
uwind 3.15

1.%6500, T1250 2. y=8, x=4 3. y=4.5, x=15, 4. y=18 HIblruge, 10 @GLomiisei
5. 360, 330 6.390, 10 weooflseir

uwind 3.16
1.(1) eweomisar 6ol swidledemed (ii) cpeomisar Gl b  (iii) eedrhl&eT QLoWILIELED
(iv) epeoraigel GIDLL, SoLbledemed (V) CLpeDMhIGET QIoll, &olD (Vi) eLedrhl&elT 6o, FLoLOED6m 6D
2. -3,4 3. CLPEDTRIGEIT GIDLLILIGDED 4. —1 5 —4,1 6. —2,7 7.-1,3 8.-2,3
udphd 3.17

1.(1) 16 (i) 4x4 (iii) \/?,g,S, 0, —11, 1

2.1x18,2x9,3x6,6x3,9x2,18x1 womw 1x6, 2x3, 3x2, 6x1

® 8, 6
1 3 5 3 3 5 1 3
64 125 J7 5 -3
3.31) o 2 4 @ |9 T | 4 fr T8 5[;[[2;[]
1 1 3 3 9 N
64 125
3 3
7.(G) 3,12,3 (ii) 4,2,0 sibeos 2,4,0 (iii) 2,4,3
udhé 3.18
X 5 0112 0 ) 7 17 —37 (-63 —15 —45
3 9p|3 1 Woll39 11 —26 Wis —27 —60
2 212 2
5.(1) 4, —10, 12 (ii) =10, 14, 10 6.46 7.4 8. —1,5wpHmib —2, 4
uuihé 3.19
1. 3x3,4%x2,4%x2,4x%x1,1x3 2. pXT, euedIUMNIGSLILLTS) 3. 7,10
12.19) (<10 —4) y
Yl 3Plog o3 ABEB
uuihé 3.20

112[3f4|5]6f7[8]9ftof11f12]13]14[15]16][17][18]19 20
() | (o) (21)|(21) [(25) ()] () [(25) ()| (&) [(2b) | (21) [(2b)] () [(2b)[ ()| () [ (1) | (&) | (=)
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0@ uinHd-3
1. 62,1  2.42,78,30 3.153 4. (ky +2)(k*2® —v®) 5. 2°+2z+1 6. (i)a" —2

2
(i) -z +g 7, (p+a+r) 8. 11 weoofleer, 22 wesullser, 33 1ellaer 9.\17%2 18z + 19\
2qr

10.3 11.14 Sibhosvofl  12.120185,408 13, 14 Biblruser 14.25 15.(1) 2° — 6z +11=0

(ii) 32° -2z +1=0 ]6.&% 170)[

750 1500 2250) (8000 1600 24000
3750 4250 750 | - [40000 24000 8000

' 122 71
18. sinf 19. 8,4 20. 58 34
uind 4.1
. . . .. . 15 36
1.(1) eugeeundsemey evemed (ii) augeleundgemel, 2.5 2.3.315 3.4216 5. TRt
6. 5.6 015, 3.25 6.5 8.2.8 61515 9. 216
uindA 4.2
1.(i) 6.43 .15 (ii) 1 2. 60 a&.1b 5. 4 6815, 4 6515
8.(1) Bmaweeully @eemed (ii) Bupsweeu’lqy 12. 2.1 ag.1
uindA 4.3
® ®

I. 306 2. lemwed 3. 21.7415 4. 1268.5,568.5 5.1015,2415,2615 6.0.815

uwind 4.4

1. 76088 2.2 e&.1b 3. 760810, 5 6085, 36085 4. 30° 5.130° 6. % 6515

7. 106815 8.4.860815 10.26815 13.8.76a85 14.10.3 ag.b

15. 4085 16.6.3 6815

uipd 4.5

1 | 2 | 3| 4|56 7| 8] 9 |10 |11|12|13]|14]15
(&) | (=) | (F) | (&) | () | (&) | (=) | (&) | (1) | () |(=»)]|(2p)[ ()] (F) | (&)

o160@ LWInHA-4
2. % Qg.Lb, % egld 5. 20\/5 A 7.1056 8. Lf,][.pd):%x(ag)rrsmwm) 10. 6 si0GSH6T
uipd 5.1
1.(1) 24 & & (ii) 11.5 & & 2.(1) @ GsmLemnwo (ii) e GsmLemw
3.(1) 44 (ii) 13 4.(1)) 0 (i1) % siebeog —1  5.(i) 35 &. o (ii) 34 5. &
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6. =5 7.2,—1 8.24 5.2, AABC -uledr umiy = 4 X (APQR) -ulledr umiiy
9.122 5. & 10. 10 eurmerfl  11.(i) 3.75 &. &1 (ii) 3 8. & (iii) 13.88 &. &

uipd 5.2
1.(i) ewewmwmids wigwng (i) 0 2.(1) 0° (i) 45° 3.(1)% (ii) —cot#
5
17 . . . .
4. 3 6. 7 7. ) 8.4 9.(i) eyb (ii) &b 11.5,2
uwind 5.3
LG) 2y43=0 (i) 22—5=0 2. 1,45°,g
5 V343 3433
3. 1—\3y-33=0 a4 S 5 s 6 ey —16=0

7.(0) 162 —-15y—22=0 (i) 42 -9y +19=0 8. 15z —1ly+46=0
9. z+4y—14=10,3x+5y-28=0  10. 5z +4y—3=0
11.(i)1 (ii) 7.5 emme&er (iii) 10 epmg el

12.(1) 3z —2y—12=0 (ii) 32—-20y+15=0  13.(1) 2, -3

(i) —-3,—4 14.(i) bz +2y+3=0 (i) z+y+4=0
uwind 5.4
1.(i) 0 (ii) euemowmise wigwng  2.(i) 0.7 (i1) 0
3.(1) Bemevor (ii) esR@sHa! 4.4 5.3t +4y+7=0
6. 20 +5y—2=0 7. 2x4+5y+6=0,5x+y—48=0 8.5x—3y—8=0

9. 132 +5y—18=0 10. 497 +28y—156=0 11. 31z +15y+30=0

12. 42 4+13y—-9=0
uipd 5.5

1 2 3 4 5 6 7 8 9 10 11 | 12 | 13 | 14 | 15

(&) | (&) [(25) | (&) [ (&) | (F) | () [ ()| (20) | (B) | (&) ] (1) | (=) ] (=»)](2p)

0@ UWInHA-5
1. &smi sgmD 2[%,%] 3.0 5o 4. =5 6.2x—3y—6=0,3z—-2y+6=0
7. 1340 e0l L 8. (-1L,—4) 9.13xz+13y—6=0 10. 1192 +102y —125=0
uindA 6.2
1. 30° 2.24\8 3.3.66 15 4.1.515 5.(1) 78 (i) 16.3916

6. 1015

AL s @ ‘
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uwind 6.3
1. 1506 2. 5015 3. 329316 4.2078.415 6. 30 sug/BIOILLD
uind 6.4
1. 355215 2.69.28 15, 160 15 4. 150 15, &b
5.(i) 26415 (ii) 198 15 (iii) 114.31 156 6.(i) 2.91 &.15  (ii) 6.93 &. 15
uind 6.5
1 2 3 4 5 6 7 8 9 10 11 | 12 | 13 | 14 | 15
() | () | (25) | (@) | (2p) [ (=) | (1) | (&) | (2p) | (F) [(2b) [ ()] (F) | ()] (o)
0@ UWIHA-6

5. 29.28 5/amm 6. 1.97 apmg &6 (BHMImuLns)

17.21 &. 15 (Bamomuwions)

23.78 &. 15 (BanomuLons)) 8. 200 5
uipd 7.1

1. 25 e&.b, 35 6815 2. 715,358

7.(1) 24.58 &. 15(GaMomuILONs)

(iii) 21.41 &. 5 (Gamomwons)

9. 39.1916

3. 2992 s.68.15

® 4. PQ emw eunmsgl sonniboGung snbliler ynliurliy 5 &wnns SméeLb. ®
5. 182515  6.28 egnudaer 7. J5:9  8.56.25% 9.%302.72 10.% 1357.72
uind 7.2
1. 4.67 18 2.1 @815 3. 652190 a&.15° 4. 63 HIOLuseT (BHTTMLIDTS)
5. 100.58 6.5:7 7.64:343  9.4186.29 @&.5°  10. T 418.36
uind 7.3
1. 1642.67 ag.5° 2. 66 ag.5° 3. 2.46 a&.15° 4.905.14 ag.5°
5. 77.78 18l15° 6. 332.5 ag.5? 7.(i) 4mr® &. o
(ii) 4mr® & & (iii) 1:1
uwind 7.4
1. 36 eg.5 2. 2 wevoflaer 3. 3% 4. 6 eg15
5. 1812000 61&.15°/1812 6O Lf 6.1.33 0815 7.16815 8.100%
uind 7.5
1 2 3 4 5 6 7 8 9 10 [ 11 | 12 | 13 | 14 | 15
@) | @) @) @@ @] @] @ @ ™[ @@l @ m

(FF)
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a1e0@ uind-7
1. 48000 eungsemaaet 2. 27 B rgser (BHMTIMuLNS) 3. %mﬁ’ &. 3
4. 782.57 .e8.6 5. 450 mmevorwirkiei 6. 4.8 ag.b
7. 36800 8. 2 e&1b 9.17 ag.1b 10. 2794.18 a5.5°
uwindA 8.1
1.(i) 62;0.33 (ii) 47.8;0.64 2. 50.2 3.250 4.2.34
5. 222.22,14.91 6.6.9 7.6.05 8.4.5 9.1.2,144 10.7.76 11.14.6
12. 6 13. 1.24 14. 60.5, 14.61 15. 6 wmHmib 8
uindA 8.2
1. 52% 2.4.69 3.7.2 4.180.28% 5. 14.4%
6. 10.07% 7. edlgwim 8. s ainledliwed, sirlelwied
uwind 8.3

{HHH HHT,HTH,THH,THT,TTH TTT}

{( ) ( ) ( ) (175)7(176)?(271)7(273)?(274)7(275)7(276)7 (371)7(372)7(374)7(375)7(376)7
( ? )7( ? )7(473)’(475)7(476)7 (57]‘)7(572)7(573)7(574)7(576)7(671)7(672)7(673)7(674)7(675)}

3. (i);—g (ii) 340 4% 5.() (n)% 6. (1)% (i) z = 4
7.30) é (n)% (iii)% (V)0 8. (1)% (ii)g (iii)% (iv)g

9. (i) % (ii) % (i) % (iv) %

10. 12 11.(1)% (ii) 0 (111)4—16 12, % 13, (i)% (n)% (iii)%

14. (i) % (i) % (iii) é

uind 8.4
1. % 2. (i) 0.58 (ii) 0.52  (iii) 0.74 3.0.1 4.1.2 5.0.2
6 5 7.l 8.é 9.Z 10. iES 11. 17 12.1 13. E,E,EM.Q
9 13 6 8 280 40 48 24 16 35
uindA 8.5

1 2 3 4 5 6 7 8 9 10 11 [ 12 |13 | 14 | 15

(&) | (=) | (8) [(25) | (&) | () | (=) | (21) | (21) | (2h) [(2»)|(2h) [ (8) [ (&) ()

0@ LWIHA-8
1.8.12 2.5.55 3.7 481 5517153 G membA 7. 60,40
g 1 9.3 010 1.8 2o 6l ) lay L
9 4 20 49 49 49 49
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